Efficiency vs dr

v 02

<
©0.18
20.16
c
Q
50.14
=
®0.12
0.4
0.08
0.06
0.04
0.02
.0

DQM_CKF_XiMinusPU_base

Ratio

1.1

dFiles125_v2_prelimWPM_epoch3

DQM_CKF_XiMinusPU_retrainOl

LIS

T
i
—1

iy

0.9
107

1072
TP

[ Efficiency vs dr (track,jet) |

) 1
min AR

§0.02
n0.018
)
%).016
9.014
>
9.012
o c
=]

£ 0.0]
©
0.008
0.006
0.004
0.002
e

Ratio
N

0.95

107 1072

Efficiency vs pu

1
AR(TP, jét)

-1

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

10

Ratio

1.1

1

0

O[TTTITTTTI

3

80 100 120 140

Pileup




	Contents
	Page 1


